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ACCOUNTING AND FINANCE

First Paper : (Cost Accounting)

Time allowed : Three hours Maximum Marks 100
: Part-A (Compulsory) (Marks : 30)
W W 9 R A ¥ | IS 99 Bl SR 50 TR ¥ e 78 B
MR | AA ¥ B 37 w9 ¥ .
. Part-B (Compulsory) (Marks : 25)
WA U 9 SR vdS 9¥a 3SR 100 IS ifers 7€ BT =lRY |
9 9E @ 3 wHE ¥
Part-A (Compulsory) (Marks : 45)
WIS TR W TS T TR §W, T A W DIRR | TP G B IR 400
w2 A fers T8 B TR | Wy S 3o wuE B

| Part-A
L Explain the different types of Cost Centre.
AR B B R yRT 1 wEsd |
2 Explain FSND and VED Classification of Material Control.
| =9 AT & FSND 991 VED a1 31 59=18d |
3 Calculate the umber of workers replaced from the following information:
=t sl & wfteenfa el & e s AR
Labour Turnover Rate (based on separations) 3%
. Labour Turnover Rate-(based on flux) _ 8%
No. of workers left and discharged 18
4 Calculate Direct Labour Hour Rate' from the following information:

rfeRaa gEamelt @ woast s wver 3% Y v iR

@ No of workers in the departtment is 10. _

(@) Department works for 52 weeks (each weck is of 5 days) in ayear.
(i) No. of working hour per day is 8. -
(iv) From the total number of days 5% is to be deducted for idle time,
(v) The total departmental overhead amounts Rs.~1,97,600.

What is the difference between ‘Production cost of goods sold' and
'Cost of production'? -

A TR A B IR AR G I ARG F 9y v &P

6 Calculate the amount of profit to be transferred to P& L A/c from the informa.

tion given below regarding Contract No. 555 for the year 2015-16:
&1 W1 555 B T A T 2015-16 3 e Ay gy @
-5 TR # TR B WR IR Y @l B e Bk

Contract Price . Rs.60,00,000
Cost up to date ) Rs. 31,20,000
Work completed * 2/3 of contract
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Work certified 1/2 of contract price
Cash received . Rs.27,00,000
7. What is Operating Costing Method? Name four Institutions where

Operating Costing Method is used.
TRaTER AT FeiRor R g ¥? 9R) SR @ A T e W

qRereH e fieiRo Rty o Se gl

8 What do vou mean by 'Unrealised Profits' in Process Costing?
wfdean omTe PreiRor ¥ aqge gen A’ | Al T A9 &7

9. On the basis of the following information, preparc normal wastage

and abnormal cffectives account:
Normal wastage 190 units @ Rs. 3 per unit. Abnormal effectives 40
units valued at Rs. 2400

ﬁw%ﬁamﬂ#wmm@wmmmz
T #7190 TP 5. 3 R S, SIS AT 4.0 ST

2400 9. @ W .
10. Discuss the advantages of Integrated Accounts.

g ol gy b el o fade Hifor |
. Part-B
11. Balaji Ltd. produces a product which has a monthly demand of 4,000

units. The product requires a component Z which purchased at Rs. 20
for every finished product, on¢ unit of component is required. The
ordering cost is Rs. 120 per order and the carrying cost is 10% p.a.
You are required to calculate:

@ EOQ
i) Ifthe minimum lot size to be supplied is 4,000 units, what is" the

extra cost, the company has t0 incur? 1
qreTon 1. 4 000 ZHTFAT B FRE AT AT SR I & | A A
e Y el 88 % R 20 %, TR 5 R e § 1yl (R r
S B Y TeP BN U6 THE AT B ¥ | M B AR 120
5. gy SIee & U1 USRI AR 1 0 wfaer i B
m%ﬁﬁqﬁfﬁmm ; - -

() onfdic SeRT A
(if) afy = W B ADR 4,000 THIA Bl & A S
21 frar aifaRex @ T .
12. Standard time is 24 hours. The hourly rate of guaranteed wages is Rs.
60 Because of time saved a worker Mr. X gets an effective hourly

wage rate of Rs. 75 under Rowan Premium Plan. For the same saving
in time, calculate the effective hourly rate of wages for a worker Mr. Y
under Halsey system. '

TIq TG 24 G0 ¥ | TRVE Y T Horg®l B < 60 w. R auer ¥
g i A @ Pt TUR T W S BRUT U AHe X B
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13.

14.

WA Y R 75 9 Wi HeT ¥ 1 B R & s 3o € 9Hd
<= B R v sifie Y B weidt wRrever worgd &) B 0T B |

A certain factory produces a uniform type of articles and has a capacity
of producing 1500 units per week of 48 hours. The following information
shows the different elements of cost for three consecutive weeks of 48
hours in each week when the output has changed from week to week:

6 v SeivTemen ¥ A R oY aegell o Seare fean e ¥
IHH 48 TUST qTR Teh [ETE B SAEA H¥G | 1500 THEAT 2
T TR e ¥ e SareE A uReda §on ¥, ara 3 e
i @ faawor &1 gE e weR ¥ | Uit 9w 48 "o SRl BT €

Units Direct Direct Factory
Produced . Material Labour Overlheads
in 48 hours cost cost

Rs. Rs. . Rs.
400 300 1600 3800
500 1000 2000 4000
800 1600 3200 . 4600

You are required to find out the selling price per unit when the weekly

. 1
output will be 1000 units and 8 — % profit on selling prie is to be charged.
.

e 9 PR Qe g8 T IRA1 ¥, WO WS BT AR

. !
1000 FHIT & a1 fAsd [ T 85%611113—@%&16!17{1%

A Truck started its journey from Jaipur towards Delhi with a load of 10
tonnes. A part of the load weighting 2 tonnes was unloaded at
Shahpura and further 3 tonnes at Kotputli. At Behror a fresh load of 6,
tonnes was loaded and the truck was completely unloaded at Delhi.
On its return journey, track started from Delhi with a load of 8 tonnes,
out of which 4 tonnes were unloaded at Alwar. A fresh load of 5 tonnes
was also loaded from Alwar. The truck was completely unloaded at
Jaipur. The stationwise distances covered by the truck were as follows:
T b I AT A P AR TR ¥ 10 T A AR el B
IR a1 2 27 BT HifIP AR AEYRT 3 G4l 3 ST &I AR Bregaen
¥ SaRT T RIS ¥ 6 °F A AR AR T AR WA A B
faeeh ¥ SaR Rar T | I I A P Rl § 8 T @1 IR A
<A gan o | 4 o oY § SAR 1 AR F 5 S B
AR =GR AT | €6 AgR A @Rl R A 1411 7 g A Rl
¥ a & T g A YER A |
Jaipur to shahpura - 60 km. Behrorto Delhi - 140 kin.
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16.

17

Shahpura to Kotputli - 65 km. Delhi to Alwar - 170 km.
Kotputli to Behror - 25 km. Alwarto Jaipur - 150 km.
Calculate for the journey of the Truck :

™ @ H aen 3 faw o R

@ Absolute tonnes km. IRYg 7 AT

() Commercial tonnes km. AT e fsdmiieY
Define and explain Joint product and By-products.
WY AT JAN IJU-IAL A IR SRR a9 FHB TAHEA |
Part-C ‘
Unit-1 '
What is meant by Cost Accounting? Give the objects and advan-
tages of Cost Accounting. ,
AP AR W A T NI 5P AT @i D e U T wangd |
Or
The follewing is the account of receipts and issues of an item of
stores for the month of January, 2017:
AE SHAQ, 2017 3 R TN B v 71 9 AR Pl D
RII W IR % - '
Jan. 1, 2017 Received 100 units @ Rs. 12 per unit
Jan. 5. 2017 Received 200 units @ Rs. 15 per unit
Jan. 10,2017 Issued 150 units
Jan 13,2017 Received 100 units @ Rs. 16 per unit
Jan. 15,2017 Waste (as reported by Store verifier) 10 units
Jan. 20,2017 Received 200 units @ Rs. 20.08 per unit
Jan. 25,2017 Issued 250 units o
Prepare Stores Ledger :
@ Charging waste as overhead
@) Inflating the price of remaining material on acoount of waste,
Material are charged to production department on the basis
of weighted average price. '
() SAaPINIHATATAGET
@) B ¥ A T B TG §Y B T R WR R
1 e Saree R @1 R AR Ry @ smaR w9 @)
o ¥
Unit- I

Define ‘Overheads’. Give their classification and explain vari-
able and semi-variable overheads in detail. i foxed,

aRery’ & aRE SRR 1 SIREl B wiiwvor SR Ty v

qﬁmuaﬁwmaﬁmﬂ%irwl

The following information is available relating to a commct for the

half-year ending on 31st March, 2016:
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31 #ﬁi,zmuﬂmmm@—aﬁakm%w#m
Frafafaa qaaK sweea ¥ :

) Rs.
Material issued 1,80,000
Cash received 3,16,800
Wages paid 1,00,000
Cost of work uncertified 18,000
Plant issued on 1.10.2015 1,50,000
Contract price 6,00,000
Supervisor's salary paid | 11,000
Material at site 8,400

The work commenced on 1st Oct. 2015. The wages of workers for one
week and salary of supervisor for one month were due at the end of
the period. Plant costing Rs. 5,000 and materials costing Rs. 3,000
were lost on 31st December, 2015. Plant costing Rs. 8,000 found un-
suitable to the contract, was sold for Rs. 6,500 on 29th Feb. 2016.
Depreciation on plant is to be charged @ 12% p.a., material costing

_Rs. 5,000 was sold at a profit of Rs. 1,000. The cash received is 90% of

the value of work certified.
Prepare Contract Acoount and Work in Progress Account.
o | IEER 201 5 B IR g3 | AD H vF T H 7ogd
T GIRAER & U IS 1 g A D 3 IR A1 5,000 .
AT &1 IS T 3,000 6. ARTH B WFE 31 RERR, 2015 AW
T#1 8000 . TR T @0E O 5 3P B RIT SIgaga IR ™I, 29
%@, 2016 6500 &, W ¥° R ™Il @ W YT T 12
yRved afe H XA TTFIE 5,000 . AR H WA 1,000 6.D
A OR ¥9 A | Wit IR B e @ 90 YRR ) ¥ vt 2k ¥
¥ WM Y1 IE-TA BRI e I |

- ... Unit-TIX
Enumerate the various factors which cause difference in result as
shown by cost and financial accounts. Also prepare an imaginary
reconciliation Statement in support of your answer.
=7 PRt PRl @1 9era Aol Rl arra el our ki Al @
qRm § R &1 W 31 AW SR @ A A @ o
T RAaw-aF A AR AR

Or

The following data are available in respect of process for February, 2016:

oRad, 2016 T S R wfbar I TP P ek sveR s :

Opening work-in-prograss 1800 units at Rs. 9,000
Input of material 18,200 units at Rs. 54,600
Direct wages incurred Rs. 16,400
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Production overheads Rs. 32, 800
Units scrapped 2,400 units
Normal waste in process ) 10% of total input
(opening stock + wnits intro
duced)
Sale of scrap Rs. 3 per unit
Closing work-in-progress 2,000 units
Units transferred to
next process | 15600 units
Degree of completion ' As regards:
‘ Material Labour
Overheads
Opening W.ILP. 100% 60%
Closing W.IP. 100% 80% -
Scrap (waste) 100% 70%
You are required to

@® Compute equivalent production using FIFO method.

@) Cost per equivalent unit for'each element and cost of abnormal
loss, closing WIP and units transferred to next process. >~

(i) Prepare process account.

A9 :

@ mﬁfﬁmww?mﬁuwaﬁmaﬁml
(i) ARG SR D URY THIE AT, AR B N AT, It

mmwmmﬁrﬁﬂéqu\aaﬁm|
(ii) mwml
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